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К л а с с н а я    р а б о т а.

Функция у = х2 и её график. 



РТ № 37.1

у = – х у = kх

у = х2 у = х2

у = 3х у = kх

у = 5х у = kх

у = хх у = х2



РТ № 37.2

0 1 4 1,69 4 1,21 1,44

РТ № 37.3

4

2
– 2 

4
– 4 

1,2
– 1,2 

1,7
– 1,7 

0,3

– 0,3 

0,2

– 0,2 

1,6

– 1,6 



РТ № 37.4

0 – 4 – 9 – 1,21 – 0,16 – 2,25 – 2,89 

РТ № 37.5

3
– 3 

4
– 4 

2
– 2 

1,7
– 1,7 

0,3

– 0,3 

0,5

– 0,5 
1,5

– 1,5 



РТ № 37.6

9 4 1 0 1 4 9

0 1 х

1

у

у = х2



РТ № 37.7

парабола

РТ № 37.8

0 1 х
1

у

у = х2

оси у

ветви
(0; 0)



РТ № 37.9

0 1 х
1

у

у = х2

0
(– ∞; 0),  (0; +∞)

нет

= 0 нет

(– ∞; 0)

(0; +∞)



РТ № 37.14

х у
у = х2

3 = 12 неверно

Ответ: не принадлежит

х у

верно

Ответ: принадлежит



РТ № 37.14

х у
у = х2

– 4 = 22 неверно

Ответ: не принадлежит



У: стр. 143 § 37

З: § 37   № 1 – 10(б,г); 
12. 


